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PDQGDWH�QDVOHGQMLP�þODQLFDP�LQ�þODQRP�2EþLQVNHJD�VYHWD�2EþLQH�*RUQMD�5DGJRQD�LQ�VLFHU��
�

−� =9(5�,YDQ��URMHQ�������������VWDQXMH�/XWYHUFL����������$SDþH���
−� .29$ý�-RåH��URMHQ�����������VWDQXMH�6HJRYFL���F�������$SDþH���
−� ä81.29,ý�9LOLMHP��URMHQ������������VWDQXMH�$SDþH����������$SDþH���
−� 7(5â(.�(GYDUG��URMHQ�����������VWDQXMH�/XWYHUFL����������$SDþH���
−� $-/(&�(ULND��URMHQD������������VWDQXMH�$SDþH�����������$SDþH���
−� 5,7/23�$QGUHM��URMHQ������������VWDQXMH�3RGJRUMH���D�������$SDþH�
−� *5('$5�=YRQNR��URMHQ������������VWDQXMH�,YDQMVNL�9UK���������6SRGQML�,YDQMFL���
−� '2./�,YDQ��URMHQ������������VWDQXMH�/DVWRPHUFL���������*RUQMD�5DGJRQD���
−� 0,5�.DUO��URMHQ������������VWDQXMH�6SRGQML�,YDQMFL����������6SRGQML�,YDQMFL���
−� .2&%(.�%UDQNR��URMHQ�����������VWDQXMH�6SRGQMD�âþDYQLFD���������*RUQMD�5DGJRQD���
−� .$038â�$QWRQ��URMHQ�����������VWDQXMH�6SRGQMD�âþDYQLFD���D�������*RUQMD�5DGJRQD���
−� 95=(/�'DQLMHO��URMHQ�����������VWDQXMH�3UHþQD�XOLFD���������*RUQMD�5DGJRQD�
−� 1-,9$5�0DUWD��URMHQD�������������VWDQXMH�3ROLFH����������*RUQMD�5DGJRQD�
−� =$*25&�'XãDQ��URMHQ������������VWDQXMH�3DUWL]DQVND����������*RUQMD�5DGJRQD���
−� %$/(�1RUPD��URMHQD�������������VWDQXMH�ýUHãQMHYFL����������*RUQMD�5DGJRQD���
−� ./(0(1ý,ý�=YRQLPLU��URMHQ������������VWDQXMH�3ROLFH���������*RUQMD�5DGJRQD���
−� .$-',ý�,YDQ��URMHQ�������������VWDQXMH�ýUHãQMHYFL����D�������*RUQMD�5DGJRQD�
−� .85%86�0LODQ��URMHQ������������VWDQXMH�7UJ�VYRERGH����������*RUQMD�5DGJRQD���
−� 3(7(.�)HOLNV��URMHQ�����������VWDQXMH�ýUHãQMHYFL�����������*RUQMD�5DGJRQD���



� ��

−� 52â.$5�/XGYLN��URMHQ�����������VWDQXMH�3ROLþND�FHVWD���������*RUQMD�5DGJRQD���
−� 92'(1,.�0LKD��URMHQ�����������VWDQXMH�0HOH����F�������*RUQMD�5DGJRQD���
−� 5286�9LQFHQF��URMHQ�����������VWDQXMH�'HODYVND�SRW����������*RUQMD�5DGJRQD��

�
.RPLVLMD� QDGDOMH� XJRWDYOMD�� GD� MH� $QWRQ�.$038â�� VWDQXMRþ� 6SRGQMD� âþDYQLFD� ��D�� SRGDO�
L]MDYR�R�SUHY]HPX�IXQNFLMH�åXSDQD�LQ�VH�RGSRYHGXMH�IXQNFLML�þODQD�REþLQVNHJD�VYHWD��
,]MDYD�LPD�QDVOHGQMR�YVHELQR��
ª3RGDMDP�L]MDYR�V�NDWHUR�SRGSLVDQL�$QWRQ�.$038â��VWDQXMRþ�6SRGQMD�âþDYQLFD����D��REþLQD�
*RUQMD� 5DGJRQD�� REYHãþDP� 2EþLQVNR� YROLOQR� NRPLVLMR� 2EþLQH� *RUQMD� 5DGJRQD�� GD� VH�
RGSRYHGXMHP�IXQNFLML�þODQD�REþLQVNHJD�VYHWD��NHU�ERP�SUHY]HO�IXQNFLMR�åXSDQD�©�
�
�
äXSDQ�MH�QDWR�RGSUO�UD]SUDYR��5D]SUDYH�QL�ELOR��
�
ýODQLFH�LQ�þODQL�REþLQVNHJD�VYHWD�VR�QDWR�VRJODVQR�����SULVRWQLK��VSUHMHOL�QDVOHGQML�
�

6�.�/�(�3���ãW�����
�

3RWUGLMR�VH�PDQGDWL�YVHP�HQDLQGYDMVHWLP�þODQRP�REþLQVNHJD�VYHWD���
�
�
�
$G���������8JRWRYLWHY�R�L]YROLWYL�åXSDQD��
�/XGYLN�52â.$5��SUHGVHGQLN�PDQGDWQH�NRPLVLMH��MH�SRGDO�SRURþLOR��3RYHGDO�MH��GD�NRPLVLMD�
QD�SRGODJL�SRURþLOD�2EþLQVNH�YROLOQH�NRPLVLMH��]�GQH������������XJRWDYOMD��GD�MH�ELO�L]YROMHQ�
]D� åXSDQD� 2EþLQH� *RUQMD� 5DGJRQD� $QWRQ�.$038â�� .RPLVLMD� SUHGODJD�� GD� REþLQVNL� VYHW�
XJRWRYL�L]YROLWHY�åXSDQD��
�
äXSDQ�MH�RGSUO�UD]SUDYR��5D]SUDYH�QL�ELOR��
�ýODQLFH�LQ�þODQL�REþLQVNHJD�VYHWD�VR�QDWR�VRJODVQR�����SULVRWQLK��VSUHMHOL�QDVOHGQML�
�

6�.�/�(�3���ãW�����
�

6SUHMPH� VH� XJRWRYLWHY�� GD� MH� ]D� åXSDQD� 2EþLQH� *RUQMD� 5DGJRQD� ELO� L]YROMHQ� $QWRQ�
.$038â���
�
�
�
$G���������3UHGVWDYLWHY�åXSDQD���
$QWRQ�.$038â��åXSDQ�2EþLQH�*RUQMD�5DGJRQD��MH�YVH�SULVRWQH�QDMSUHM�OHSR�SR]GUDYLO��.RW�
SUYR�MH�L]NRULVWLO�SULORåQRVW�LQ�JRVSRGX�9RGHQLNX�þHVWLWDO��]D�XVSHãQR�RVHPOHWQR�åXSDQRYDQMH�
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SRWUHEQR� ]DKWHYDWL�� GD� EL� VH� Y� WR� REPRþMH� YODJDOR� QHNROLNR� YHþ� NRW� GUXJMH�� NDU� QL� LOX]LMD�
DPSDN� UHVQLþQRVW�� 3UL� WHK� SRPHPEQLK� ]DGHYDK� ERGR� SRWUHEQL� VWURNRYQMDNL�� NL� ERGR� ]QDOL�
RFHQLWL��QD�NDWHUH�UD]SLVH�VH�ER�SRWUHEQR�SULMDYLWL��NDWHUL�VR�XJRGQL�LQ�VSUHMHPOMLYL��WHU�GD�ERGR�
WH�]DGHYH�WDNR�NYDOLWHWQR�SULSUDYOMHQH��GD�ER�L]�QMLK�QDVWDO�SR]LWLYHQ�UD]SOHW��
3RYHGDO�MH��GD�ER�VNXãDO�GRVHþL��GD�VH�QD�QRYR�XVWDQRYL�5D]YRMQR�SURJUDPVNL�VYHW��Y�NDWHUHP�
ERGR�PRUDOL�ELWL�GRPDþL�VWURNRYQMDNL�L]�GRPDþH�REþLQH��7D�VYHW�ER�PRUDO�GQHYQR�DOL�PHVHþQR�
VSUHPOMDWL�YVD�GRJDMDQMD�Y�VPLVOX�UD]SLVRY�WHU�LVNDWL�RGSUWH�PRåQRVWL�QD�YVHK�SRGURþMLK��
3UHGODJDO�ER��GD�EL�VH�XVWDQRYLO�6YHW�]D�XUEDQL]HP�LQ�LQIUDVWUXNWXUR��NL�EL�VNXãDO�GHORYDWL�QD�
RGSUWLK�]DGHYDK��VUHGLãþH�PHVWD��VWDUL�GHO�PHVWD��åHOH]QLFD��«���
1DVOHGQMD� ãWLUL� OHWD� SULþDNXMH� WLPVNR� GHOR� WHU� SRHQRWHQMH� Y� VNXSQR� GREUR�� 3RQXGLO� MH� URNR�
YVHP�WLVWLP��NL�JD�QLVR�L]YROLOL�� ,PD�YVD�]DJRWRYLOD��GD�VH�ER�GHODOR�VNXSDM�]�URNR�Y�URNL�]D�
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QDORJR�ER�PRUDO� åUWYRYDWL� WXGL� NDNãHQ�GDQ� Y�PHVHFX�� WHU� VL� WDP�SULGRELYDWL� LQIRUPDFLMH�� ]D�
EROMãR�LQ�XVSHãQHMãR�SULSUDYOMHQRVW�QD�SUHåHþH�L]]LYH��
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VYHWD�2EþLQH�*RUQMD�5DGJRQD��VYHþDQR�REOMXEOMDP��GD�ERP�GHORYDO�Y�VNODGX�]�8VWDYR�56��Y�
VNODGX�V�VWDWXWRP�LQ�SRVORYQLNRP�2EþLQH�*RUQMD�5DGJRQD��WHU�VSRãWRYDO�YVH�]DNRQH�Y�]YH]L�]�
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